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Darwinian. If peahens chose peacuc]{s with the showiest

A FAECTRA T B. st 7 trains, then it must be that they knew what they were about. |
| C. 0T el il D. s g@ei 7t The cocks must have some other quality, not necessarily
TN : SF R MRS QAN - obvious. The train was not an end in itself, but an
#FS T LT advertisement for some genuine contribution to survival.
HERTE CHes N o Now, 100 Years later, the wrangle is still unrcsulv?d_ But
Sl e T o 200 birds at Whipsnade offer uniqu_e nppnrtunitler: for
m'ﬂm e study. Marion petrie's team has identified two questions.
— ' | | First, do peahens really choose the males with the showiest
SRR G i S trains? And, secondly, do the peacocks with the showiest
S AP IR AR | R P trains have somc cxtra, genuinely advantageous quality?
bl (i S RAGEARAIR Long observation from hides, backed up by photographs,
palt WESUSERAEL Bl L suggests that the cocks with the most-eye-spots do indeed
aY, AR ST R0 MR attract the most mates. Showy male birds in general are the
FlkerTg iR TS (5! most parasite-free and advertise their disease-free state. But
A A <Al Petrie and her colleagues have not been able to assess the
ST TN g = internal parasites in the Whipsnade peacocks. This year,
wiEdReER @ T g_i;:, WEFE T however, she is comparing the offspring of cocks that have
2 CoryA in the past proved attractive to hens with the offspring of
ST &a G 3T cnctlés that hens find un?lth'aitéve. R. 1:1 Fisher'séh suglgitit:’n
e ey e, in the nineteen-thirties has become known as the 'Fisher's
s = o] %m‘c‘m Runaway'. This occurs when a female first picks a male
AL C ' - with a slightly better tail than the rest. The sons of that
Y ,ﬁ;_ = J | mating will inherit their father's tail and the daughters will

inherit their mother's predilection for long tails. This is how
A TMEay  B. *@@@ C.*«d  D. @0 MW | the runway begins. Within each generation the males with
: AT Agive S e SR Wﬁﬁﬁ’r 8 the longest tails will get most mates and leave most

‘{EI‘-‘FI ?ﬁﬁ‘ﬂ T | B IS @ ~faFR FRew e | | offspring; and the females' predilection for long tails will |
AT 74 TER 0T 9FTFA AA wCES Zret | &Y | | increase commensurately.

A TR FWTT RO TN Tl SR I WR | What is the purpose of Marion Petrie's research?
ST 2 Fq IR, T, FIRf1P @] ?rﬁwmﬁmm 1 A. To show that a peacock's train serves no useful purpose

Ans : C. o : B. To solve a problem that Charles Darwin could
25. ‘3RSt F AN not solve
A N7 Zwal B. &1gw o C. To compare peacocks in the wild with those in captivity
C. 33 T D. %7 (99w D. To demonstrate that Charles Darwin's theory
TN : T el e STReerA Ny <+ 1 5 2fee Was wrong
(S TTEA7R AT TR 0 | Il : Passage @ It TAR "Marion Petrie and her
SR AT SoNEtt I MR TE- TaR, ﬁlqg,ﬁq {:ﬂlleagues are now trying to settle the mater".
| | E=mesifem & e SR A AeiR | | mﬁ&,W(B}W T
|| Ans : B. - Ans : B. -
How did Russel Wallace's view of peacocks
1. differ from that of Darwin?
Read the following passage carefully and answer A. He thought that a peahen's choice of mate was
| (Qq. 26-30] practical.
Every Summer, the peacocks that roam free within B. He believed that animals could experience emotions.
Whipsnade Park expose their magnificent trains to the C. He belicved animals appreciated beauty for its
critical gaze of the peahens. They re-enact the mystery that own sake.
tormented Charles Darwin : how in this competitive world D. He believed that the peacock's train must have a

could birds have evolved such an obvious extravagance? protective function.

Marion petrie and her colleagues are now trying to settle | | it : Passage 93 st para 93 JE0ME A%E =g, "The

the mﬂtter.l Darwin advanced the idea' of evolution through train was not an end in itself, but an advertisement for
natural section, i.e., the 'fittest’ are likely to survive. The | | some genuine contribution to survival”.

peacock’s tail, by contrast, was at best a waste of space and | | 5oz, @ittt W=pi= (D) #éF |
a severe encumbrance that he felt obliged to refer as Ans : D.

'beauty for beauty's sake'. Russel Wallace was even more




] Peahens at Whipsnade Zoo show a preference for-
A. the most dominant male in the group
B. the biggest and strongest male.
C. the male which displays most often.
D. the male with the finest feathers.

1T : Passage @ I TR "Peahens chose peacocks
with the showiest trains".

HeAw, W (D) AT |

Ans : D.
M‘Why does Marion Petrie plan to study the
offspring of different peacocks?
A. To check whether the birds have inherited discases
B. To discover whether the breed is becoming
bigger in general
C. To learn about the reasons bchind the peahen's
choice of mates
D. To study the development of various species.

JYT : A, Passage @ peahen (I7F mate 2% I IR
a3 (TR IR FYR WA T W 99 Marion Petrie ¥«
a2 a0 study 917 T 9 R |

Ans : C.

. What d{lES 'Fisher's' Runaway' suggest"

A. that inherited characteristics gradually become
stronger

B. that peacocks are exceptions to gencral
biological laws

C. that peahens react instinctively to beauty
D. that Darwin underestimated the intelligence of animals

It = =M, "Fisher's Runaway" 71 Passage @ Tt
zag, "This occurs when a female. first picks a male
with a slightly better tail than the rest. The sons of

that mating will inherit. their father's tail ‘and the
daughters will inherit their muthers predllcctmn fnr

long tails".
o1z, S (A) ‘Hﬁ?ﬁ |
Ans : A,

Fill in the blanks (Qq. 31-33)

| Originally commissioned 14 years ago, the new British

Library was (31) __ to open in 1990. However, the
project has been (32) by political infighting, poor
planning and financial problems. The most recent
(33)__ came in June when inspectors discovered that
60 miles of new metal shelving had started to (34)
and needed to be replaced. That would (35)  the
opening of the project's first phase for yet another two years.
A. projected B. supposed C. assumed D. expected
It : Suppose to do something - AT R F7H T4 A= |
a3, “Bod ARG wwvo TE @Fm I A RIS
supposed to T |
Ans : B.

A.delayed B.bothered C.infected D. restricted
Rt : Delay - g 974t |

T, &FET CifiTs TR qaite delayed [ |

Ans : A,

e ||
~ l[rammasn

1 A. trouble B. setback C. drawback D. occurrence

"!III‘UT Set back - 4t
Q3T, TPRTS el T4 R AR @ T TR |

14l IS setback A |
Ans :' B.
| A. fade B. melt C. breakup D. rust

w Rust - ot =6t
Q3 aoﬂﬁﬁﬁﬂ"?rwaﬁﬂw%ﬁmmstmt
Ans D.

i A d:si:racl B. destroy _ C. postpone D. postdate

7=l:i'["liﬂ‘ Postpone - Z1e <4 |
wﬁﬂmwwiiwmzﬁwmwwmu

Ans C.

| Identify the most appropriate response. Jill :
'It's going to cost a lot of money to put right, I'm
afraid.' Frank: ' '

A. It's not the end of the day.

B. It's not the end of life.

C. It's not the end of the world.

D. It's not the end of everything.

IR : G, IR Best response 2, "Its not the
end of the word". .

Ans : C. / |
. Idennfy the currect tag questmn
Sarah : 'I can't take any more."
Paul :' "\
A.Ohyou can, can you?  B. Oh you can't, can you?
C. Oh you could, could you? D. Oh you could, could you?
Ut : Sentence @ auxiliary verb negative I tag
qucstmu Q- uxlllar}f verh + subject + 7ZF |
Example : He didn't come; did he?
w@ers, Oh, Yﬂu Can‘t Can yuu'?m |
Ans : B.
. Choose the most smtable upuun to r,umplete the sentence.
There are a lot of people there in the car park
and they're

A. sailing their aims about  B. turning their arms about
C. waving their arms about D. driving their arms about
T : Wave - U IS SrepdHi S |
GH, S T ifE: vnﬁf\ q e e eyt
e’ mml -
Ans i
Conversational comprehension.
Ron : Do you think the business conference went well?
Sarah : Yes, but next year I think the planners
should include more about global technology.
Ron : I agree. We should know more about that.
Question : What are does Sarah want to include
in next year's conference?........
- A. The environment B. Technology around the world
C. Technology and modern business
D. None of the above
RO : AT, ARS Comprehension €@ Sarah I, "1 think
the planners should include more about global technology".
Ans : B.




F:2019-2020 (257)

[I Complete the expression. - Use the word in BOLD to form a new sentence
I_ Nobody ever got in his way- without changing the key word.
A. he'd just stride all over them I don't want a lot of cream of my strawberries
B. he'd just hop all over them (cream) T only want __ on my strawberries.
C. he'd just stroll all over them A. little cream "~ B.alittle cream
D. he'd just walk all over them C. less crcam D. créam less
1t : Walk over someone - ST B°F F9g mﬁ' Rl iyt : 9, It @R "I don't want a lot of cream”
3R SIS T g AT/ TReg S | Wm’ "a Illﬂﬂ cream" 2 |
amwmwmmwmmmw Ang B .
ST e S | m He is wicked .
Ans : D. | A. to the backbone B. out of doors
Choose the most appropriate substitution. That C. out and out D. out of gear
which cannot be seen through. It : Wicked to the: baukbnne WW@ | oo
A. Luminous B. Translucent ﬁwﬁg Proverb- : '
C. Opaquc D, Transparent See the light - Sz 771 |
4t : Which cannot be seen through - 71 faed (1 am 1 | Shp of tongue - WWWEWI
Luminous - =2 Translucent - A &= Summer friend - J-WGE IF 1 |
Opaque - STAR/E Transparent - TR So and so - GFTPN '?IFF? |
Ans : C. GEEROR <t Ans'A -

Sentence improvement.
The most remarkable article we remember ever to
have read, challenging the orthodox belief system.

[ Choose the best pair of analogy.
Funds : Embezzled ::

A. remarkable ever article we remember to have read A, Iﬁﬂmt : Buried ]S Eﬂtmg .]:I}’Iaguz&nz(;:d |
B. ever remarkable article we remember to have read C. Rausom ; ey, ey ;L epoalie
C. remarkable article we ever remember to have read it < Funds : Emhezzlﬂd Writing : Plagiarized.
D. No improvement e Fund (@'-‘Eﬁ?l) embezzled (SEFTISF=1) 2 |
Ttt: Never, Ever, Always ZS5if 0 subJect 93 1 o Writing (1) PIEEIHHZE*T] (ﬁ"ﬂfﬁ) Rl
@3 Principle verb 43 TS J0 | , : '‘Ans : B. / R g o * |
A, 57 (C) s 29 | i A i . Ican't luwer myself __ such meanness.
Ans C. ot g e A. by . B. about
| Choose the right form of voice. C. into D* against
The teacher made us work very hard before the | | 101 : Lower into something - W4$HSH & |
examination e o, i fRers 2 e ‘Eﬁ“"‘l'f%‘\ﬁ Fa0s At ||
A. We were made to work very hard before the cxamimnation Ans: C.
B. We were made work very hard before the examination - Symptoms of this illness that warrant a doctor
C. We were made hard work before the examination (A)
D. We had to work hard before the examination visit includes fever, vomiting and diarrhea, as
because the ieacher made us so. (B) (C)
it : «afb causative voice ©12 Passive @ to A1 well as the loss of appetite.
Example : Active : He made me dothe work. (D)
Passive : I was made to do the work. - IO : QUANH, 991 (B) S includes 1 T include A |
wgA*ed, We were made to work very hard before (@ze symptoms plural subject ©1% verb plural 23 1
the examination. ,_ Ans: B
Ans : A i} Fifty percent of the people alive today have
Identify the correctly spelt word. S Fifty p peop d A
A. Hierarchy B. Heirarchy never made a phone call, but thirty percent still
C. Hearearchy D. Hiararchy B C
It : Hierarchy - (R | have no electricity connections to their homes.
w3y f¥% Spelling- | . D
Translucent Leisure | JIGE : 9T, o (B) @ But TE A1, FRT 9 “Ra”
Commissionaire Lieutenant ol e AT 1 | 9, And TE | '
Psychology Entrepreneur Ans:B. ‘
Ans : A,




Which one of the following is not related to

H General Knowledge and Aptltude Test ’ disarmament of atomic weapons?
Bl Bangabandhu Sheikh Mujibur Rahman A SaET B
completed his graduation from the- C.CTBT D- NATO .
A. University of Dhaka TR : ¢ Among the mentioned, NATO is not related
B. Calcutta Presidency College to disarmament of atomic weapons. '
C. Calcutta Islamia College e The other three treaties talk about disarmament of I
D. None of the above | atomic weapons, - |
It : o Bangabandhu Sheikh Mujibur Rahman e The Comprehensive Nuclear—Tcst-Ban Treaty (CTBT) |
completed his graduation from Calcutta Islamia College. 1s a muliilateral treaty that bans all nuclear tests.
e The college is now known as Maulana Azad College. e The Strateglc Arms Limitation Talks (SALT) was
e Sheikh Mujibur Rahman (1920 - 1975) was a two rounds - of bilateral conferences and cnrrespnndmg
Bangladeshi politician and statesman. intcrnational treatics one of whmh led to the Anti-
¢ He 1s called the "Father of the Nation" in Bangladesh. . Ballistic Missile Treaty .
e He passed his Matriculation from Gopalganj ‘e The Non-Proliferation Treﬁty (NPT) is an international
Missionary School in 1942. treaty whose objective. is -to prevent the spread
* He completed his BA from Islamia Cnllege in 1947. of nucl.ear weapﬂns and weapnns technn]ugy
Ans : C, Ans * D
|22 Who among the following was not the army? ' x .
A. Mohiuddin Jahangir B. Hamidur Rahman Play F is related to Monday in a certain way
C. Matiur Rahman D. Mostafa Kamal based on the given schedule. Similarly, Play G is
I IOt : © Among the mentioned names, Matiur Rﬂhman related to Thursday. In the same way, play B is
was not in the Army. R related to which of the following days?
» The other three were in the Army TR IR A. Wednesday B. Friday
* Matiur Rahman was employed in the Pak]stan Air Fnrcc ' C. Tuesday D. Saturday
L vt i e | [T BT iy
pe from Pakistan an -]“m E’. o Givén, Pla Fis related to Monday and Play G is
_ Bangladesh Liberation War hi _rackmg an alrcraft rel atcd to TTII{I'S day. : y y

Ans : C. :
o |t
E If the Taj Mahal is to love, J alhanwala Bagh is tu— ¥ Am;ané Pla:; ;Snﬂntﬂefé:hgf E:Irﬁ}::m?; tﬂ:c‘;l ;;Si Ef

A. Revolution B. Martyrdom three days between the orders.

C. War D. Sacrifice _ s If Play G is related to Thursda and Play F is related
Tt : o If the Taj Mahal is to love, JﬂlllﬂﬂWﬂ]ﬂ Bagh to Monday, then Play E will be related to Friday, Play

1s to martyrdom. . ' D will be rclated to Tuesda}r, Play C will be related to

e Jallianwala Bagh is a historic garden and memnnal
of national importance’ in Amritsar, India.

e The Jallianwala Bagh massacre took place on 13'
April 1919,
e The massacre is also known as the Amritsar massacre.

e The massacre was occurred on the site on the
festival of Vaisakhi.
Ans : B.

How many brigades were formed in the

liberation war 19717
A. Three B. Four C. Five D. Eleven

IR : @ Three brigades were formed in the Liberation
war 1971.

e They are — S Force, K Force and Z Force.

» S Force was formed under the leadership of
Major K M Shafiullah.

e K Force was headed by Major Khaled Mosharraf;

e Z Force, also known as Tura Brigade, was formed

under the leadership of Major Ziaur Rahman,
Ans : A.

‘Satmday

» Finally, Plaj,r B wﬂl Il'.‘:IﬂtEd to Wednesday
Ans:A:

B In a party of 77 peuyle, there are twice as many
women as children and twice as many children

as men. How many children were present?
A. 22 B. 25

C. 28 D. 31
[T : We will test the options :

e It 1s mentioned that, the number of women 1is twice
as much as children. '

e From option (B), if the number of children is 22, ||
then the number of women is 44.

* Again it is mentioned that, the number of children is
twice as much as men,

e So if the number of children is 22, then the ﬁumber
of men is-11.

e Total number (44+22+11) = =17,

Ans: A,
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. If Football is called Cricket, Cricket is called
Basketball, Basketball is called Badminton,
Badminton is called Volleyball, Volleyball is called
Hockey and Hockey is called Golf, then which of
the following games is not played using a ball?

A Badminton B. Hockey C. Volleyball D. Cricket

it : e Here, Volleyball is the game that is not played
using a ball.

e In reality, Badminton is not played using a ball

e From the given conditions, Badminton is callacl Vulleyball

e So Volleyball will be the answer,
Ans C. 3

Which of the ful]nwing international urganixatiﬁn
has recently blacklisted Pakistan?

A.UNO B.IMF C. World Bank D.FATF
i : @ The FATF has recently blacklisted Pakistan. -
e The full form of FATF is Financial Action Task Force.:

o The FATF blacklist has been 1ssued by the- FAT!-
since 2000. &

e The list consists of cnuntnes which FATF Judges tn
be non-cooperative in the glnbal fight agamst mnney
laundering and terrorist financing. . .

 FATF was established by the G7 summlt that was
heldeansm 1989. DS RU USR5

Ans :

m The Suuahst Federal Repubhr: of Yugnslavm
was divided into six countries. Which of the
following was not a part of it?

A. Armenia B.Bosnia  C.Croatia D. Macedonia
TRl : o Armenia was not a part uf Sumallst Federal
Republic of Yugoslavia. '

¢ The other three were part of Snclalﬁt Fedeml
Republic of Yugoslavia.

e The Socialist Federal Republic of Yugus}awa (SFRY)
was a country in Central and Southcastern EUIDPE:

e It existed from its foundation in the aﬁermath nf
World War I1. '

* The Socialist Federal Republic of Yugﬂslawa was
combined until its dissolution in 1992.
Ans: A,

'The Bastille' reminds the-

A. October Revolution

B. Kinghood of Napoleon

C. Republican Muvement of France
D. Great French War

TGt : @ The Bastille reminds the Republic Movement
of France,

e It was a fortress in Paris.

* It was known formally as the Bastille Saint-Antoine.

* It played an important role in the internal conflicts

of France and for most of its history was used as a

state prison by the kings of France.
Ans: C,

. The next UN climate change conference will be

held in-
A. Denmark B. Sweden
C. Brazil D. Chile

it =@ The.next UN Climate change Conference will
be held at Glasgnw Scotland.: -
oIt 15 the 26th United Nations Climate Change cﬂnfemnce

o It'is‘also known as the 2021 United Natmns Climate
Change Conference or COP26

o Tt-is scheduled to be hald in Glasguw Scutland from
1 to 12 November 2021. S

e The conference will take place under the premdenuy
of the UK - Gnvemment vnth assistance from the
Scottlsh Gﬂvenunent. s -

Ans'ﬂ’IQ

In 2019, the 'Man Booker International Prize'
was awarded to-
A. Jokha Alharti for 'Celestial Bodies'
B. Olga Tokarczuk for 'Flights'
C. Alia Trabucco Zeran for 'The Reminder'
D. Marinn Poschmann for 'The Pine'

Ttz @ I.n 2019, the ‘Man Booker International Prize’
was awarded to— ' Jokha Alharti for “Celestial Bodies”.

“In 2022 International Booker - Prize = wiriner
GEEtEﬂ_]B.ll Shree: fnr ‘Tnmb of Sand’ nobel,

Ans : A. - :
. Of the followings which cannut the parlmment du‘?
A. To lcgislate B. To interpret law
C. To pass budget D. To impeach president

It : o The parllament cannot interpret laws.

o -The qnle - responsibility” of the parhament is tu |
lcglslatf: and ameénd laws.

® It can also pass budget in évery financial year
° It can, if necessary, can Impeach the President,

o The judiciary has the authunty to interpret ]aws
-according to constitution.  --

AnsB

§ Sachin Tendu]kar lut h:s 100" mternatmnal
century against-

A. Sri Lanka B. Bangladesh
C. Pakistan D. South Africa

IR : o Sachin Tendulkar hit his 100" international
century against Bangladesh.

e He has become the first player to score 100
international centuries.

e The match was his 49th one-day cricket match,

» He is the highest run scorer of all time in
International cricket.

Ans : B.
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A gatha Christie's autobiography is entitled- Find out the missing character.
| A, Wings of Fire B. Mein Kampf 4(5(3(2]|0
C. Walk This Way D. An Autobiography 713|14]|4]21
[| Tt :  Agatha Christie’s autobiography is entitled as 6|4(4|5]|22
“An Autobiography”. | 9(6|5|5]| ?
e [t was published 1n 1977. A. 34 B. 42
o Agatha Christic (1890— 1976) was a prnmment C. 56 D. 58
I English writer.
e She was famous for her detective nmrcls and slmrt 11+ o The answer will be 34. lude ||
story collections. . . . ® ;]11;:1]::1;1;1;5{? D?lf E:ﬂCh row follow an equation to conclude
into
Pt | e
|| Ans : D. B ) two middle numbers.
o Similarly, (4x2) = (5+3)=8-8=0 l
[ Which company has manufactured the satellite o (7x4) - (3+4)=28-7=21 -
| 'Bangabandhu 1' ? ® (5;{5) (4+4) = 30 -8 = 22
| A. AIRBUS B. Lockheed Martin e So, (9::5) (6+5} 45-11=234
C. Thales Alenia Space Ans A,
D. Ball Aerospace and Technology Arrange the following in a meaningful sequence.
l it : o The Bangabandhu Satf:lhte-l was manufactured |- 1. Letter 2. Sentence 3. Word 4. Phrase I
by Thales Alenia Space A.1,2,4,3 B.2,1,3,4
e It is the first Bang]adﬂshl gﬂﬂstatmnary cnmmmucatmns C.2,4,1,3 D.1,3,4,2 I

and broadcasting satellite.

e It was launched on 12 May 2018. .
|| If is named after “the father' of the ﬂﬂtlﬂﬂ'

14t : o The sequence willbe 1, 3, 4, 2.
e The sequence follows smallest portion of a language

Bangabandhu Sheikh Mujibur Rahman. - to bigger ones. Letter makes word, word makes
e It was launched by a Spane}{ Falcon: 9 rncket phrase and phrase makes sentence. '
Anigs C. e | | @ The smallest portion in Letter, then Words, then ||
l. Who was the fnunr.lcr uf 'Sompura BI]]EII" ? Phirasc and finally Sentence.
_ e So, 1, 3, 4, 2'1s the correct sequence.
A. Dharmapal B. Gopal AnsisD.-
C. Devpal D. Second Gopal Pointing to Surma in the photograph, Faria said,
Wﬂﬂm . Ehimﬂ%ﬂ Wt?if:‘i“gdﬂ of “Sompura BLhHI "Her daughter's father is son-in-law of my
e Il was bult in Cen i 1" . .
e Tt is located at Paharpur in Naogaon | Dlstnct of Bangladesh :fu;? Et;l ooy aradiaxelated fo Sivma?
l e It is one of the most important EI'ChﬂEDnglEd] sites ; eCE B. Aunt
in the country. C. Sister D. Dauther in law
e It was designated as a: UNESCO World Heritage 1At : @ Faria is Surma’s sister.
Site in 1985. . . e The conditions say, Surma’s daughter’s father
Ans : A, i ' ' (means Surma’s husband) is the son-in-law of Faria’s mother.
ADR Stands for- o It means Faria’s mother has two daughters.
A. Automated Disputc Resolution ¢ One 1s Faria, and the other one is Surma,
B. Automatic Dispute Rescttlement Ans: C.
C. Alternative Dispute Resolution Pigeon : Peace :: White Flag: ?
D. Automated Dispute Resettlement A. Victory B. Surrender
|| 3ot = ¢ ADR stands for — Alternative Dispute Resolution. C. Peace D. Liberty |
e It refers to a process that helps parties resolve 11 : @ Pigeon : Peace :: White Flag : Surrender.
disputes without a trial. e Pigeon is the symbol of Peace.
e Typical ADR processes include mediation, arbitration, e White Flag is the symbol of Surrender.
neutral evaluation, and collaborative law. o Whitc Flags arc used in batles to surrender before the enemy.
o There is always a third party involved in ADR process. Ans : B.
 The third party helps the two main party in
dissolving the dispute.
Ans : C.
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(] David prefcrs T David prefers Economics to 1 to Maths, English to
Social science, and Political Science to HlStDI‘}' If
she prefers Maths to History and Social science Monday — Telegu
to Maths, which is David's least preferred subject? Tuesday — Tamil
A. History B.Maths C. Social science D. Economics Wednesday — Punjabi

T : @ Marathi film was shown on Saturday.
° The whole sequence of films are as follows:

1 : » David's least preferred subject is History. Thursday — Bengali
e At first sentence, we can see her three least preferred | | gnt?;g_ Btﬁpmt;l _
subjects are — Maths, Social Science and History. Sinda ;{—k anﬂtf:dal
e In the second sentence, we can find that she prefers : :
: - tly depicts the
Maths to History and Social Science to Maths. * The abovementioned sequence correctly depic

, conditions said in the questiun
o In nowhere, she prefers History.

_ . Ans : B.
; So, History is her least preferred subject. On which of the fullumng days is Bhojpuri film shown?
ns : A.

A. Tuesday B. Wednesday C. Thursday D. Friday
E Who is the composer of the national marching | | it : ¢ Bhojpuri film was shown on Friday.

song of Bangladesh? ‘e The whole sequence of films are as follows:
A. Kazi Nazrul Islam B. Rabindranath Tagore Monday — Telegu
C. Farrukh Ahamad D. Jasimuddin Tuesday — Tamil
Yt : e The composer of the national marching song - Wednesday — Punjabi
|| of Bangladesh is Kazi Nazrul Islam (1899 - 1976). |- Thursday — B.eng::lh , |
|| » He was a Bengali Bangladeshi poet, writer, and musician. - Friday—Bhojpurt —
e He was honoured as the national poet of Bangladesh. Saturday — Mﬂfﬂgll
e Nazrul produced a large body of poetry and music Sunday — Kannada
with themes that included religious devotmn and e The abovementioned sequenca correctly depicts the
rebellion against oppression. - . A _;”I?f“;gﬂs Sﬂld il ﬂlﬂ questth
Ans : A. ) |
h between Tamil film
Read the following information carefully and answer . How many ﬁlms ,f re.ARowL Mroween 14
[Qq. 76-80] and Marathi film?
One of the seven regmnal films-Punjabi, Marathi, A. One B. Two C. Three D. Four

Tamil, Telugu, Kannada, Bengali and Bhojpuri- is | |0t e Three films were shown between Tamil and Marathi.
shown on each day of a Film Festival, starting from | | ® They are — Punjabi, Bengali and Bhojpuri.

Monday and ending on Sunday. o The whole sequence of films arc as follows:
Bengali film is shown on Thursday. Kannada film is Monday — Telegu
shown on the day immediately after the day on which Tuesday — Tamil v
Marathi film is shown. Kannada film is shown neither - Wednesday — Punjabi
| on Tuesday nor on Saturday. Only one film is shown Thursday — Bengali
between Bangali and Tamil Film. Two films are shown Friday — Bhojpuri _
between Punjabi and Marathi film. Bhojhpuri film is Saturday — Marathi
| shown neither on Sunday nor on Monday. Sunday — Kannada ‘
i@ Which of the following regional movies is shown | | e The abovementioned scquence correctly depicts the
just before the Bengali film? conditions said in the questmn
A. Bhojpuri B. Punjabi C. Tamil D. Marathi Ans : C. : '
TRY1 : o The Punjabi film is shown just before the Bengali film. . Telugu film is shown on which of the following days‘i'
e The whole sequence of films are as follows: A.Monday B.Tuesday C. Wednesday D. Thursday
Monday — Telegn - M : @ Telegu film was shown on Monday.
Tuesday — Tamil e The whole sequence of films are as follows:
Wednesday — Punjabi Monday — Telegu
Thursday — Bengali Tuesday — Tamil
Friday — Bhojpuri | Wednesday — Punjabi
Saturday — Marathi Thursday — Bengali
Sunday — Kannada ‘ Friday — Bhojpur1
e The abovementioned sequence correctly depicts the Saturday — Marathi
conditions said in the question. Sunday — Kannada |
Ans ;: B. e The abovementioned sequence correctly depicts the
m Which of the following regional movies is shown | | conditions said in the question.
on Saturday? . _ Ans : A.
A.Bhojpuri B. Marathi C.Tamil D. Bengali
|
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m 'Gwe adog a hmi name nm:l hang him' 23mGs w¢-

A. FM1 ST A1 B. o3 o qiy

C. Ftea 799 F1(€, F1% gaaz =i

D. ufS st ey wie
W:ﬁﬂﬁﬁﬁmz
e Give a dog bad name and hang him - Stem 73 3ifE,
FIE g e |

* Give him an inch and he'll take an ell - 2=y e e
T 6T |
* Good wine needs no bush - CBHT'-'JTE[CH'-:EW T |

e God helps thosc who help themselves - =igeret
CTRA AR AR S |

e Jail bird - 75t 5=l

* Many a little makes a mickle - IR THS TS & |
Ans : C.
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Read the following passage carefully and answer the
questions no. (26-30) ,
Most of us have photograph of our grandparents, but how
many of us know what their lives were like, the sort ‘nf
people they were in their youth? The glimpses rare diaries
gives us are frustratingly incomplete. We often intend t0
write things down, but never get round to it. Hannah Renier
has come up with an answer: she writes other people's
autobiographies-—- a chronicle not of the famous, but Pf the
ordinary. "When I started I didn't take it nearly so seriously
as I do now, having met people who genuinely will talk and
have led interesting lives' she says.

The assurance of confidentiality encourages her subject
to overcome any instinct of self censorship, T had the
confidence to be honest' says a 62 year-old man who
made and lost one fortune before making another’ I was
surprised at what came out. 'There were things that hurt,
like my divorce, and the pain was still there' she also
recognized patterns laid down in childhood, which
showed themselves in repeatedly making the same
mistakes. 'It's amazing how many people really have
been conditioned by their parents' she says. 'The
injunctions and encouragements that were laid down in
childhood have effects for the rest of their lives. They
marry the sort of people of whom their parents approved
or go in the opposite direction as a short of rebellion’.

'A lot of disappointments come out, Sixty years later they
still are regretting or resenting things that were never
resolved with their parents. There is no age of reason. If
people had hang-ups in their youth, they still have them in
middle age. They live their lives in an attempt to impress a
parent who wasn't impressed and if that fails some of the

mother. Each book involves up to 30 hours of taped
interviews which Ms. Renier rearrange chronologically and
interpreting it. Mr. Renier organises her material logically
and writes well; the final content is as good as its subject.
The book that emerges does not look like cheap product and
carries a price tag of nearly $3,000, with extra copies at $25
each. She receives many inquiries a week, but the cost
inevitable with the time involved clearly deters many people.
3 According to the writer, most people.

A. have no mterest in leaving records for their grandchildren.

B. are unable to find out much about their

grandparents.

C. find stories about their grandparents' families boring.

D. want their grandchildren to know only good

things about them.
Ot : Passage 9 <= Sz, Most of us have photograph of
our grandparents, but how many of us know what their
lives were like, the sort of people they were in their youth?
S, SRS SEAE, IR TR B9 TR [, S e |
& SR GRAR @ 231, OR1 YiE BrE @ e
Ans : B.
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kA Hannah Renier decided to write other people’s
autobiographies because-
A. she had already done so for relatives.
B. she had met so many interesting people
C. she wanted to preserve the past
D. she had often been asked to do so.

1yt : Passage 9 991 witg, "When I started I didn't take it
nearly so seriously as I do now, having met people:who
genuinely will talk led interesting lwes" she SAys.,

| Ans : B.
I The 62-years-old man asked her to write his

autobiography-

A. so that he could reveal his true feeling

B. because his family wanted to read it.

C. so that his children would understand him

D. because he thought he was close to death.
I : Passage 9 2nd para (3 Sie, "I had the
confidence to be hﬂnest“ says a 62 }rear-n]d man ‘
Ans : A. i o |

i Hannah is surprised that many of her sub]ects-
A. regret the marriages they made

B. remain influenced by their parents

C. rcfuse to discuss their childhoods

D. want to be like their parents.

Tt : Passage SPAE;. "It's amakmg how-many penple
really have been cnndmuned by their parmts" ‘she says::’
Ans : B.

- The autobiographies that Hannah pruduces-

A. follow exactly what she was told by her subjects.
B. are intended to be interesting to anyone

C. look lcss expensive than they really are

D. present the facts in a way that is casy tu fnl]uw

matenai logically and writes well the: ﬁnal content 15
as good as its suhject | * |
Ans : B.

Fill in the blanks (31-35)

| Last year thieves broke into a Scottish castle and stole only
one thing: a rhino horn, which at 1.5 meters was the
longest in the world. In China pharmaceutical. plants have
been building up (31)...... of antiques made from rhino horn
for the sole purpose of smashing them to powder to make
the (32)..... ingredient of many of their medicines. And in
Africa poachers continue to die in the (33)....... for the

campaign to persuade countries where rhino hom 1s still

art of the traditional medicine to (35)..... to substitutes.
| A. amounts B. bundles C. collections D. groups
It : Amounts - Affmd Bundles - St s
‘ Collections - == Groups - 5(E
Y, “sAe1 H¢eera” g collection of antiques T3 1
{LAns : C.
A. essential B. real C.actual D. raw
I T/OT : Essential - SwiEag Real - 954
Actual - 3219 Raw - W@/
QYT “eaTGA Tome” S Essential ingredient 2 |
|LAns : A,

3 A. chance B. search D. race
It : Chiance - Jie Search - c3re
Fight - 7@ Race - wife/a

T, WW@WW search for the black thino za |

Ans : B.
KE A. design  B. plan

C. ﬁght

C. programme D. form

?411‘4]1 - Design - 53t Plan - =ffFg!

" Programme - ¥8 . Form - #5
G2, SR ﬂﬁmwm plan a campaign T |
Ans B.

A. vary B. switch _C. modify D. adjust

an:m: Vary - 3% 2edl Switch - «RIE T
Modify - 9@t Adjust - W F

G, mwmammﬁxéwﬁﬁmw

SRS R, SRy T T AT ST G

quﬁmwm@ q% f[@g e o f[om

ﬂTﬁﬂHWSWﬁEhWWl _

Ans :'B. i

| E - Identify the appropriate response. Mike: D
you understand what he's on about?'
Jane : ......."
A. No, it's long above my head.
B. No, it's route above my head.
C. No, it's road above my head.
D. No, it's way above my head.
I : Way aboveihead < more complex or confusing
than one can understand.

'Examplﬂ What he is saying is way above my head.

black rhino. Recently, conservationists met to (34)...... a

wgEeeld, No, its way above my head

I Ans : ' D.
# Right form nf tag question

Sarah: 'I can't take any more.’
Paul : "....."
A. Oh you can, can you?
B. Oh, you can't, can you?
C. Oh you could, could you?
D. Oh you couldn't, could you?
AYT : Negative - sentence 4« tag qur:stmn B (AU
auxlhary + subject T | -
Example : He isn't coming, is he?
SFAH S, Oh, you can't, can vnu?
Ans : B.
i Choose the mnst suitable uphun to complete the sentence,

Now I can sce quite clearly the big red car has...
A. stricken the little blue one

B. stroked the little blue one
C. struck the little blue one

D, stuck the little blue one
it : @b’ Present perfect <% example :
Structure : Subject + have/has + v; + object
Example : He has completed the task.
SF@Teld, Now I can see quite clearly the big red car
has struck the little blue one.
Note : Strike < past participle struck/stricken FB1% 2t
*licd, Stricken T8 349 & @P-TRa =i 1 w1 =3

Example : She was stricken by Cancer.
Ans : C.
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| | TGt : get through - cﬁﬁmmmiwmem r_ﬁ’m— D
oy i ®% group verb: 4 b
Get in - 8+fFe qent Get intd-ﬁlﬁﬂ?em b
Get on - 9593 267! Get across -ﬁ‘ﬂ%ﬂﬁ!‘[ o
Get off - 3@ ==1 Get eﬂei' —.‘Eﬁﬁaew;- 4
Ans : D, ¢S

KB} Conversational comprehension-

Michael : My wife and I bought some great
house plants yesterday.

Maria: Really. Do you have a lot of sunhght in
your house?

Michael : No, so we bought some plant that have
low-light requirements.

Question : What kind of plants did Michael buy?
A. Small, house plants

B. Plants that need a lot of sunlight

C. Plants that don't need a lot of sunlight
D. none of the above

U1 : Comprehension 9 I=1 TCATE "No so we bought
some plant that have low-light rcquuements '

4 Use the word in BOLD to form a new sentence
without changing the key word.
Could you lend me some money until the weekend?

(FROM) Could I you until the weekend?
A. lend some money from

B. borrow some money from
C. get some money from
D. draw some money from
W Lend - 4= ¢ . Borrow - 419 (et
e Could your lend me some meney until the weekend?

e Could I bormw eeme meney from you until the weekend.
Ans B.

{ During the liberation war rmm}I Pakistani, soldiers

surrendered____before Bengali freedom fighters.
TSR, option (C) correct. A. like a lamb B. length and breadth
Ans: C. C. in vogue D. in the soup

. Phrasal expression of complete a sentence 1
have tried, honestly but-

A. I just can't get across to her
B. I just can't in between her

C. I just can't get up to her

D. I just can't get through to her

. Choose the most appropriate suhstitutlen A
large group of insects moving in a mass.
A.Storm  B.Suede C.Swamp D. Swann

<10t : Swarm - group of insccts "
Storm -¥%  Suede-®f - . Swamp - E?rl_ﬁ
Ans D. ; -
Q| Identify the correctly spelt word.

A. Demagogue B. Denigrete

C. Diephanous D. Debunke

It : Demagogue - SRH (1 |

oF g RE spelling : o
Encyclopedia Pueride - Inflamable .
Humorous Voluptuous - Schedule
Ans A. |

| Choose the right form of voice.
A car ran over our dog, but he is finally out ef the woods.
A. Our dog was run over, but finally out of the woods.
B. Our dog was run over, but is finally out of the woods.
C. Our dog was finally out of the woods, though it
was run over by a car,

D. Our dog finally out of the woods, but it was run over.

Gt : Active : A car ran over our dog, but he is
finally out of the woods,

Passive : Our dog was run over, but is finally out of
the woods.

Ans : B.

W Like a lamb - SPRIG™ Frel/Re &SI
: Length and breadth - Wfﬁm ffTEﬁ
In vogue. - ﬁﬁﬁﬁfﬁ?ﬁm

" In'the soup - RomHg
Le'#lc-‘{ WWW Lﬂce a lambm l
Ans @ A. ]
. Chense the hest pmr of analogy.
Fundamental : Incidental ;
A. Religious : conservative
B. Clever : shrewd

C. Cemprehenswe eemplete
D. Vain : humble

W Fundamental : Incidental - Gf# : Wﬁl‘e
- Vain': humb]e L1 - R

: Rehgmus eeueervatwe ififes « ‘ﬂ-ﬂﬁﬂ
_ Clever : shrewd - - BTEI : BIAN

s Cemprehenswe complete - TﬂTﬂﬁi ‘-Frvvff
Pundamentel &R Incidental ME i ﬁ‘ﬁfﬁ |

Vain eea humble eI?rﬂ-’le f&ﬂﬁi“
AIIS D rob X ‘. _3' 3. L1
| His wurds are euseeptlb]e flm_‘ter}I
A. to B. on C. for D. upon

Tt : Susceptible to flattery - - SRR R af LA |
Example : He's very susceptible to flatterry.
‘Hﬁ’l‘é‘m His werde are suseeptlble to ﬂettery

‘Ans : A,

| 'He owed Ius success to hlE father The eumplex
form of the sentence is-
A. He was owing for his success to his father
B. It was owed to his father that he succeeded.
C. It was owing to his father that he succeeded
D. He was owed to his father for his success.
ARG : A simple sentence can be converted to a

complex sentence by ¢xpanding a word or phrase into
a subordinate clayse.

Simple : He owed his success to his father.

Eemplgx It was owing to his father that he succeeded.
ns

———
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. 49. Pin point error (49-50)

Professor Lane our Computer Science teacher,
A B

was excited when he had the opportunity to meet

bill Gates, the president of Microsoft, Inc. No error

C D
Ut : @we sentence 0TS subject-verb-agreement 7%
39 ¥q@ Grammar 99 condition Wz % | ©iR
sentence 6T® (FH & 2 |

Ans : D.
. Television viewers clalm that the number of
A
scenes depicting alcohol consumption have
B C
increased dramatically over the last decade.
D .
it : A number of + noun (plural) + verb (plural)
The number of + noun (plural) + verb (sing. )
Example : The number of people is increasing here,
HSaR, W 'C' @ haveﬂTT:E’I hasZA | '
Ans : C. a2t

H General Knowledge and Aptitude Test “

Who were the organizers of the 'Concert for Bangladesh'?
A. George Harrison and SD Barman
B. George Harrison and Bob Dylan
C. Kishore Kumar and John Lemon
D. Ravi Shankar and George Harrison

it : ¢ The Concert for Bangladesh was nrgamsed

by George Harrison and Ravi Shankar. -

e The shows were held in August 1971, at Madlsun
Square Garden in New York City.

o It was organized to raise international awareness and
fund relief for refugees from East Pakistan, fﬂllumng
the Bangladesh Liberation War-related genocide. :

|| @ The concerts were followed by a bestselling live album, a

[| boxed three-record set, and Apple Films' concert documentary,

which opened in cinemnas 1n ﬁ'ne spring of 1972. ;

e The concerts were attended by a total of 40,000 people,
and the initial gate receipts raised close to $250,000 for
Bangladesh relief, which was administered by UNICEF.

Ans : D,

. Which of the following is the official title of the

English edition of Ausamapta Atmajiboni?
A. The Untold Story

B. The Unfinished Autobiography

C. The Unfinished Memoirs

D. The Incomplete Biography

TN : e The official title of the English edition of

Ausamapta Atmajiboni is - The Unfinished Memories.

e The Unfinished Memories is the autobiography by

Sheikh Mujibur Rahman, founding father of Bangladesh.

» Inspired by his wife, Fazilatunnesa Mujib, Mujib started

writing his autublugraphy in his notebooks during his
sojourns in jail as a state prisoner between 1967 and 1969,

e In his books, Mujib portrayed vividly many aspects
of his life in and out of prison.

e Mujib also narrated the beginning of his ancestry,
birth and childhood, days in school and college, and
social and political involvements.

Ans: C,

E NRC in India denutes-
A. National Recruitment Commission
B. National Register of Citizens
C. Nationally Registered Citizens
D. Nationally Recognized Citizens
I : ¢ NRC in India deriotes National Register of Citizens
o The National- Register : of CltIZEnS (NRC) is a
register of all Indian citizens. - - -
e It is mandﬂted by the 2003 amendment of the
Citizenship Act, 1955. W '
e Its purpose is to, ducmnent all the lcgﬂl citizens of India 50 | |
that the ﬂlegal migrants can be idéntificd and deported.
e Jt.has been unplememed for the state of Assam
startmg in'2013-2014. ' ' -
.o The. Governmient of Indla plans to lmplement it for
ﬂ:ua rest uf ﬂ]f: cuuntry 1n 2020
Ans': B. '
. Who amung the fu]lﬂmng has held the office of
the House Commons Speaker for five times?

LE) : |

A. John Major B. John Bercow |
C. David Thoppes D. Charles Fredrick
Tt < o" John . Stmén Bercow i(bom 1963) is a British

pulmcmn who sewed as Speaker of the House of Cominons
“from 2009-to 2019, and’ ‘as:Member of Parliament (MP) for
'Buchngham betweeu 1997 and 2019

o He was :the first MP who jwas elécted, Speake.r

withoit prewuusly serving as a Dﬂputy Speal-.er since

Selm Lluyd in 19715 + .

e Prior tohis election . as Speal(er, he was a
Cunservatwe: MP.-

o The Speaker of the Huuse uf Cummnns 18 the chlef

officer and highest authority of the House of Commons.

e House of Cummons is the lower house and primary

ch ambe:r of the Parhamt—:nt uf the Umted Kingdom.

Ans : |

55. Whn is the author uf the Statement T have not

seen Himalayas but have seen Sheikh Mujib'?

A. Winston Churchil B. Richard Nixon

C. Fidel Castro D. Josip Broz Tito

Ryt : o The author of the statement "I have not seen the
Himalayas. But I have seen Sheikh Mujib" is Fidel Castro.
o Fidel Castro (1926 - 2016) was a Cuban communist
revolutionary politician, a Marxist-Leninist and Cuban nationalist, -
e Castro governed the Republic of Cuba as First
Secretary from 1961 until 2011, Prime Minister from
1959 to 1976 and then as President of the Council of
State and Council of Ministers from 1976 to 2008,
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e Castro also served as the Commander-in-chief of | | Which state was the principal promoter of the

the Cuban Revolutionary Armed Forces. European Union?
e Under his administration, Cuba became a one-party A. France B. Germany 4 Kinod
communist state, while mduslry and business were C. Luxembourg D. The United Kingdom
nationalized and state socialist puhmcs were JPGt : ‘o The principal ‘Promoter of the European
implemented throughout society. | Union was - France.
» He was in favor of Bangladesh Liberation war. e Aristide Pierre Henri Bna:nd (1862 - 1932) was a
 The government of Bangladesh honored him with French statesman who served eleven terms as Prime
'Friends of Liberation War award‘ three years agn Minister of France during the French Third Republic.
Ans : C. o e He is mainly remembered for his focus on
. Who among the following was the leader of the ‘international issues and reconciliation politics during
Constituent Assembly in 19727 the interwar period (1918-1939).
|  A.Maulana Abdur Rashid Tarkobagish e In-1926, he received the Nobel Peace Prize along
B. Shah Abdul Hamid with German Foreign minister Gustav Stresemann for
|  C.Mohammad Ullah the realization of the Locarno Treaties, which aimed
' D. Bangabandhu Sheikh Mujibur Rahman ?l: r;cnlic#;:t}lgnwﬁnveen France and Germany after
e First Wor .
UL : e Bangabandhu Sheikh Mujibur Rahman was ‘the e To avoid another worldwide conflict, he was instrumental
eadetof the Coustifuest Assebly of Barghdsshin1972..: | | | § oy oscirios Koo s the Kellogg-Briand Pact of 1929,
|| ® The Constituent: Assembly ‘of Bangladcsh was the aswell to establish a "European Union™ in 1929,
constituent assembly of Bangladesh. ' ' . The EU was not-always as big as it is today.
;J.; lw g8 dﬂﬁ%ﬂﬂws Pt mnsmnal parhamunt between | o The Union cutrently counts 27 EU countries,
4 .
|| » In 1972, it drafted and adﬂpted the Cunstltutmn nf {JHTI];E Eﬂgfdjﬁaﬁjﬁz‘aﬂmdﬁw i, e Stipopein
Bangladesh. Ans : A.
e The ﬂsscmbly was dominated b}r the Amnu League, G The Berlin Wall symbolized the-
with a minority being independent lawmakers. - A finest architecture in Germany
e The initial tally of members was 469. I—Iuwever, the B. ideological division between East and West Germany
tally dropped to 404 after the war. - -~ - C. sign of cold war between East and West Germany
e Shah Abdul Hamid wias elected as the asscmblfs 5pea]cer ' D. frontier for German Armed Force
HAHESME;;IHTﬂmad Mﬂhﬂmmadu]_lahas dcputy P caker J“ :IN]‘{ -bThe Berém Wall symbolizes the cold war's
' lvision between East and West German |
m 1A party.GL2s peuple, there are wice as neny | & The Wall physically and 1deuluglgally divided
women as children and twice as many children Berlin from 1961 to 1980
. 4
45 men. Humeggy nhlldr{e:n ;EEFE prEse;lt. * Construction of the Wall was commenced by the
A. 28 : o L 1 | | German Democratic Republic (GDR, East German}f)
AYNOT : Let, the number of men were - X, - . .- on 13 August 1961
©. the number of children=2X. - .. = f_ | | | = The Wall cut off West Berlin from surrounding East
", the number of women = 2X x2=4X o Germany, including East Betlin.
93 ia ! o ‘The Eastern Bloc portrayed the Wall as protectin
Now, X +2X +4X =98 = 7X =98 :X R T4 iIts population from fascist elements cnnspplrmg tE
So, the number of children’ were - 2X=2x 14 =28 prevent the "will of the people” from building a
As <k . snclahst state in East Germany,
m The number of colonies taking part in the . Thﬂ Berlin Wall stood until 1989, when the head of the
American Revolution was " mgﬂm“tﬂlﬂ Party announced that citizens of
A. 10 . B. 13 C.15 D.19 AES =) could cross the border whenever they pleased.
MYt : o The number of colonics taking part in . The teenager environment  activist Greta
American Revolution was 13]31 ; gl Thunberg, is a national of:
|| ® The 13 colonies were established in No eric g -
by Great Britain during the 17th century. m£ :S:VMT?; l:f:fnaS e eud C. Siowkia_D. Slovens
l e The American Revolution was a colonial tevolt Thunberg is a nat: g]er environmental activist Greta
which occurred between 1765 and 1783. . GretagT tma onal of Sweden,
» The American Patriots in the Thirteen Colonies defeated thd 2003) is a 1151 dEE““mﬂ Ermnman Thunberg (born
British in the American Revolutionary War (1775-1783). gained mtm‘;ﬁ IS environmental activist who has
e France helped the Americans winning independence from| | | 5+ that hum onal recognition for promoting the
Great Britain and establishing the United States of America, arising from cl; anity is facing an existential crisis
| Ans : B. Imate change.

—ﬁ
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I In May 2018, aged 15, Greta won a climate change
essay competition in a local newspaper.

e Three months later, in August, she started protesting in
front of the Swedish parliament building, vowing to

continue until the Swedish government met the carbon
emissions target agreed by world leaders in Pans, m 2015.
e She held a sign that read "School Strike for Climate"
and began regularly missing lessons to go on strike on
Fridays, urging students around the world to join her.

e Her protests went viral on social media and as support
for her cause grew, other strikes started around the world,
spreading with the hash tag #Fridays For Future.

Ans @ A.

E Who was awarded the Ramon Magsaysay
Award 2019 for investigative Journalism?

A. Ko Swe Win B. Ravish Kumar
C. Jong-Ki Kim D, Angkhana Neelapaijit
It : ¢ Eminent journalist Ravish Kumar was

awarded the Magsaysay Award for 2019, _

e He has been awarded for "harnessmg _]numahsm to
give voice to the voiceless”.

e The award was established to perpetuate f'unner
Ph1hppme President Ramon Magsa}rsay; example of

integrity in govemance, courageous service to the people,
and pragmatm idealism within a democratic society;

e The prize was established in April 1957. Ramon

Magsaysay Award' is the highest honour gwen to
Asian individuals and organisations.

e This award is known as the Asian eqmvalent of the
Nobel-Prize.

Ans : B.

. The former president nl' Zlmhahwe Rnhert
! Mugabe was the leader of-

A. Zimbabwean National Congress Party

B. Zimbabwe African National Union-Patriotic Front
C. Zimbabwean Liberation Front for Greater Africa
D. Zimbabwean Patriotic Union for Integrated Africa

Tt : o The former president of Zimbabwe Robert
Mugabe was the lcader of Zimbabwe African
National Union — Patriotic Front. |
» Robert Gabriel Mugabe (1924 —2{]19) was a
|| Zimbabwean revolutionary and politician who served
as Prime Minister of Zimbabwe from 1980 to 1987
and then as President from 1987 to 2017.

* He served as Leader of the Zimbabwe African
National Union (ZANU) from 1975 to 1980.

» He also led its successor political party, the ZANU
- Patriotic Front (ZANU-PF), from 1980 to 2017.

* ldeologically an African nationalist, during the
1970s and 1980s he identified as a Marxist-Leninist,
and as a socialist after the 1990s. His policies have
been described as Mugabeism.

Ans : B,

m Sakib Al Hasan Scored __ rums and took____

wickets in the ICC World Cup, 2019.
A.609,13 B.606,11 C.607,13 D. 609,11

it : @ Shakib Al Hasan scored 606 runs and took 11
wickets in ICC World Cup 2019.

e He is the first player in the history of World Cup to score
500 runs and pick 10-plus wickets in a single edition.

e Shakib Al Hasan (born 1987) has played all three
formats of the game.

e Internationally, Shakib has been recognised as one
of the greatest all-rounders of all time.

e He was ranked as one of the world's most famous
athletes by ESPN WORLD FAME 100 in 20189.

e His aggressive left-handed batting style in the
middle order, controlled slow left-arm orthodox
bowling, and athletic fielding has helped him win

trophies in top leagues across the world.
Ans : B.

[ The autubmgraphy of Anne Frank is entitled?

A. The Dairy of a Young Girl
B. Dairy of Anna Frank

C. A Tale of a German Girl
D. Lost of Heaven

‘of Anne Frank, is a book of the writings kept by Anne

[ Which of the fullumng is not included as a

i : e The autobiography of Anne Frank is entitled
as - ’I?':E Diary of a Young Girl.
e The Diary of a }"mmg Girl, also known as The Diary

Frank while she was in hiding for two years with her
family duting the Nazi occupation of the Netherlands.
o.The family was apprehended in 1944, and Anne
Frank “died of typhus in the Bergen-Belsen
concentration:camp in 1945.

e The diary was retrieved by Miep Gies, who gave it
to Anne's father, Otto Frank, the family's only known'
survivor, just after the war was over.

e The diary has since been published in mote than 60
languages.

Aﬂs A

fundamental principle of state policy of Bangladesh?

A. Equality B. Democracy
C. Socialism D. Secularism
[T

~¢ Equality is not included as the fundamental
principle of state policy of Bangladesh.

o Fundamental principles of state policy indicate
those principles which ‘are used as a guideline in
formulating different policies.

e These policies are made up based on the social,
economic and administrative perspectives.

» The principles of nationalism, socialism, democracy and
secularism are included as the fundamental principles of
state policy in the Constitution of Bangladesh. |

e The Constitution of Bangladesh was adopted on 4
November 1972 and effective from 16 December 1972.

o It provides the framework of the Bangladeshi

republic with a parliamentary government, findamental
human rights and freedoms, an independent judiciary,

democratic local government and a national bureaucracy.
Ans: A.
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The First International C-rlmes Tribunal
(Bangladesh) was established on-

A.3 1:: May, 2008 B. 23™ December, 2009
C. 25™ March, 2010 D. 16" December, 2011

TNM : e The first International Criminal Tribunal
| (Bangladesh) was established on — 25 March, 2010,

° It was established to investigate and prosecute
suspects for the genocide committed in 1971 by the
Pakistan Army and their local collaborators,
Razakars, Al-Badr and Al-Shams during the
Bangladesh Liberation War.

® During the 2008 general eiectinn, the Awami
League (AL) pledged to try war criminals.

e The government set up the tribunal after the Awami
Lrs_:ague won the general election in December 2008
with a more than two-thirds majority in parliament.

LAns : C,
Pearl : Necklace : : Flower?

| Therefore,

VIOLET=V=221=9,0=15L=12, E=5,T=20
=(22+9+15+12+5+20)=83
and PINK=P=16,1=9,N=14,K=11
=(16+9+14+11)=50
Now, The difference between the number codes of
VILOET & PINK = (83 — 50) = 33

A. Garden B. Bouquet C. Petal D. Plant

Ans : C,
E Find out the missing Character.

188 | 300 | 263

893 ? | 915
A. 72 B. 88
C. 96 D. 238

YL : e The missing character will be 88.

o In the first row, (263-188) =75 x 4 =300

e So, in the second row, (915-893) =22 x 4 =88
Ans : B.

m If Reena says, 'Anjali's father Raman is the only son
of my father-in-law Ramanand' then how is Piyn,
who is the sister of Anjali, related to Ramanand?

A. Wife B. Sister
C. Grand-daughter D. Daughter

Ramannad MREIHEH {—WE- Reena

(Grandfather) (Father) (Mother)

Sister

Piya < Anjali _
(Daughter) (Daughter)
Ans: C.

If '"GREEN' is given number code as 49, what is
the difference between the number codes of

'WVIOLET' and 'PINK'?

A. 55 B. 45
| C.33 ~_D.50
et

(1) :[2) 3) @ ) 6 @) @ (9 (10)(11) (12) (13)
ABCDETFGHTIIJKLM

(14) (15) (16) (17) (18) (19) (20) (21) (22) (23) (24) (25) (26)
NOPQRSTUVWXYZ

Now, GREEN=G=7,R=18,E=5E=5N=14
=(7+18+5+5+14)=49

[T : @ Pearl : Necklace : : Flower : Bouquet
e Pearls are placed in necklace.
e Flowers are placed in bouquet.

e However, the other options are also related with
flower. But they do not resemble the meaning as per
the given clue.

e Only option (B) resembles with the clue.

Ans : B.

published in-
A. The Shikha B. The Dhumketu
C. The Langal D. The Bangadarshan

|e Its lyrics was written by Bengali polymath:

M : o The National Anthem of Bangladesh was
first published in the Bangadarshan magazine.

Rabindranath Tagore.

e The song was written in 1905 during the first

partition of Bengal. ;

e The first ten (10) lines of this song constitute
Bangladesh's national anthem, adopted in 1971 during
its liberation war.,

e The instrumental orchestra rendition was composed
by Samar Das.
Ans:D.

In an archery match, Peter's team got more scores
than David's team but not as many as Smith's team. |

Smith's team got more scores than Taiwa's team.
Taiwa's team got less score than David's team.

Which team is in second place in the descending:

order of scores?
A. Smith's team B. Talwa's team
C. Peter's team D. David's team

Ol : e From the mentioned clues, we can see that
Peter's team got more scores than David's team but
not as many as Smith's team.

e So, the order goes — Smith's Teamn > Peter's Team >
David's Team. -

e Then we can see, Taiwa's team got less score than
David's team.
° And so, she falls in the last position of the order -

Smith's Team > Peter's Team > David's Team >
Taiwa's Team.

* So, Peter's Team is in the second place.
Ans: C.

The National Anthem of Bangladesh was first |

> |
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The day before yesterday was Saturday, Which
day will it be the day after tomorrow?

A. Tuesday B. Wednesday

C. Thursday D. Friday

Gt :  The answer will be — Wednesday.

|| e If the day before yesterday was Saturday, then
yesterday was Sunday and today is Monday.

e [ftoday is Monday, then tomorrow is Tuesday.

¢ And so, the day after tomorrow is Wednesday.
Ans : B.

The school principal has received complaints
from, parents about bullying in the school yard
during recess. He wants to investigate and end this
situation as soon as possible, so he has asked the
recess aides to watch closely. Which sitnation should
the recess aides report to the principal?

A. A girl s sitting glumly on a bench reading a
book and not interacting with her peers.

B. Four girls are surrounding another girl and seem
to have possession of her backpack.

C. Two boys are playing a one-on-one game of
basketball and are arguing over the last basket scored.
D. Three boys are huddled over a handheld video
game, which isn't supposed to be on school grounds.

01 : o Bullying means to treat (someone) in a cruel,
insulting, threatening, or aggressive manner.

o It is a repeated aggressive behavior characterized by
a power imbalance and the intent to cause harm. .
Option (D) @ udie Al a1 <o fofee o
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Read the following information carefully to answer
(Q- 76-80)
Eight persons F, G, H, I, J, K, L and M attend seminar
on four different months January, April, November and
December of the same year. Seminar was conducted on
either 15th or 25th of the month G ai;tcnds the seminar
15th of the month which has only 30 days. M and J
attend the seminar on the same month before G, but not
in the month of April. M attends the seminar after J. No
One altends the seminar after F. Only one person attends
the seminar between M and K. Both H and L attend the
Seminar on the 15th of different month. L does not
attend the seminar on December. L and I attend the
SeMinar on the same month.

Who among the following attends the seminar

on 15th November?
A K

B.L
C.1 D.H

Yt : @ L attends the seminar on 15th November.
e The diagram according to the given clues 1s as
follows:
15th - J
January 25th | > | M
; 15th — G
Aprl 25th | —» | K
15th — L
November s m ; |
| 15th S H
December St - R
Ans : B. |

Which of the following combinations of Month-
Date-Person is correct?
A. January-15-G B. January-25-K !
C. Nov-25-1 D. Apnl-15-F

M : o The combination of Option (C) is correct.

® Please follow the Diagram gwen in Explanatmn of

question (76). -

Ans : C. | LR

Which of the following statements is true with

respect to the given arrangement?

A. G attends the seminar in November.

B. H attends the seminar immediately after I.

C. M attends the seminar immediately before 1.

D. K attends the seminar in Nnvember.

'4THIT . Here, Optmn (B) is true.

oH attends the seminar unmedlately after I.
e Please follow the Dmgmm gweu in Explanahun of

questmn (76). . cqtngs, h

Ans:B. = 2 3¢

Who among the following attends seminar in
December?
A.F B.M
C.G D. K

L : » Here, only I attends the seminar in December.

e Please follow the Diagram given in Explanation of
question (76).

Ans: A,

] How many persons attend seminar between G
and H?

A. One B. Two

C. Three D. Four
FIR01 : @ Three persons attend the seminar between G
and H. :
e Theyare K, L and I.

e Please follow the Diagram given in Explanatmn of
question (76).

Ans : C.




